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BACHELOR'S DEGREE PROGRAMME 
(BDP PHILOSOPHY) 

Term-End Examination 
June, 2016 	02963  

ELECTIVE COURSE : PHILOSOPHY 

BPY-002 : LOGIC : CLASSICAL AND SYMBOLIC 
LOGIC 

Time : 3 hours 	 Maximum Marks : 100 

Note : (i) 	Answer all five questions. 
(ii) All questions carry equal marks. 
(iii) Question No. 1 and 2 should be in about 400 

words each. 

1. What were the main contributions of Leibniz and 20 
Boole in the transition from classical to modern 
Logic ? Explain. 

OR 
Provide a formal proof of validity for the following 20 
using 9 rules of inference and 10 rules of 
replacement. 
(a) (K v L) 	(M A  N) 
(b) (-1Mv 

(c) (0 = P) = (Q A  R) / (L v K) = (R A  Q) 

2. 	How do terms relate to classes ? What is the 20 
importance of terms in Logic ? Explain. 

OR 
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Construct a formal proof of validity for the 20 
following arguments using conditional proof. 

(a) (A B) 	[(C D) 	El / ...A 	[(C A  D) 	E] 

3. Answer any two of the following in about 200 
wards each : 

(a) Logic is not so much concerned with the 10 
truth of propositions but with the validity 
of arguments. Explain. 

(b) Construct a formal proof of validity for the 10 
following argument. 

(i) 	(3x) (-Tx A  Kx) 
( x ) (Tx  Lx) / (3x) (Lx Kx) 

(c) Discuss any five types of informal fallacies. 10 
(d) Discuss the distinction between formal and 10 

material Logic. 

4. Answer any four of the following in about 150 
words each : 

(a) Find the obverse of the following : 	 5 
All players are experts. 

No musicians are novelists. 

Some scholars are women 

Some strangers are not foreigners. 

(b) Provide the definition of negation with 	5 
example. 

(c) Provide the truth table for implication. 	5 
(d) Distinguish between sentence and 	5 

proposition. 

(e) Explain Modus Ponens with an example. 	5 
(f) Describe the meaning of inverse variation. 	5 
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5. Write short notes on any five of the following in 
about 100 words each : 

(a) Fallacy of 'undistributed middle' 	 4 

(b) Mood 	 4 

(c) Syllogism 	 4 

(d) Biconditional 	 4 

(e) Venn Diagram 	 4 

(f) Stroke function 	 4 

(g) Disjunction 	 4 

(h) Existential Quantifier 	 4 
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(b) 

(c)  

(d) 

(e) 

5 

5 

5 

5 

f-Atr 	dq ► iiiTftd tifti-ltsrd W771 

M C14 7ck 	-1C4.111 	 figiur 	̀I 

arer 3 	oci)a Ice.' 	atd-t 	I 

1:h14 "c4k9.14 	dcmkui Trro .<41tFAii V177 I 

(f) 9W14 Lirtacii 	eiP4 	auk Vi 7R I 5 

5. fch.g Aq-ii 	WrillT 100 7E4 	Trfk-T7r tart 

Th-fgr4 

(a) 3rafT7 1:1V:17 trq 4 

(b) 317f-P-TT (Mood) 4 

(c) 4 

(d) 1.Frdi (Biconditional) 4 

(e) 3Thf 4 

(f) ct) 	91(1-1 4 

(g) at! Al 4 

(h) alf1RTR'W 4t4- ► u ► cii (Existential Quantifier) 4 
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fiHel : 3 jut 	 37fw-dq af-W : 100 
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(iii) 	s, i kv .(sen 1 7-42 7 YR* T dri< TI9P7' 400 
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1. 	7707 	3-1T 19-Wa cI I ft 	I 	4stolut 	20 

c-wviricki 3 c Isq *KO 	WA7 I 

3TT 

'41 3171-F 74 - Tr Tri-d7-9479.  t-  19-m4 	kmili 
	

20 

317Wgiff Atrdr 31-wftw 	-5r-gff 	I 

(a) (K v L) 	(M A  N) 

(b) (—.Mv —.N)(0 -=P) 

(c) (0 EP) (Q R) / (L v K) (R Q) 
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2. 	trq 'WI "4 *--4 Alztrqu 	W? "ct 'Wr i kllt-1 4 qzIT 20 

i-mr.1 t.? egitsql wif7R 1 

311TarT 

ti 41 tiW 51+-1Iur 	tIZIt411 A aTarffr-co 3 chi 	"AIM 20 
4 3-7*-TFTW miim 31170 WrI77 I 

(a) (A v B) [(C v D) E] / ...A = [(C A  D) E] 

	

3. 	rch41 t 51k1I*797 c11 	7R I 'SAW 379.  Tr art PTIT 

200 klea 4 cl 	1,3.R i 

(a) 	4 i4)kiitl 'Wf "tzfrzitT 14).11.4 V-  'k-INCII A 7-01' t 	10 

-4F--  -fo74 V- -4q-ffr A t' - ows,ii -11---A-7 1 

(b) awf--erro -f-qr Ati-dr 4 au--*--rftw 51 4-11u1 liRTO 10 
W--A-R 1 

(i) (3x) OX A  KX) 

(ii) ( x  ) (Tx 	LX) / ''' (3X) (LX A KX) 

(c) f-*71tr% 3mtrzrqrftw4tit .1.-N---d79-r*N-R 1 10 

(d)3.1M-117W ici)klit-91P.TT iird'W icimik-91 * 'qui 10 

317 w f-4-1-(-7 qlr•TR 1 

	

4. 	---41 Wrr 50-11 * -3-1'{ ql 	R7R 1 mct)ct) 31'49' WF 397 

7TTIPT 150 kicq'T q1fz71R I 

(a) f 	ii-irofisio -w miciacii V177 : 
	

5 

(i) 1:11.11 figo 	141 fa *Er-  t I 

(ii) chli#71-1d7 34.-gRichlt .ffe t I 

(iii) V9 fa-gm ft zri f 1 

(iv) To 33794-  fq-k* 9-6 t 1 
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